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1927 § 98 A WepR 4 T § U Junfes TR k1 e @ foRat 2 Tum
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qd § HHTd TSl & Hawd ol 3gQ hiWT | 2
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“AThdIeh eI ToHIfdes Go T W AUid 28 |7 39 %o 6l T
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Page 2 32/6/1



General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(i)

§729)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises five sections — Sections A, B, C, D and E.
There are 13 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 5 are very short answer type questions, carrying
2 marks each. Answer to each question should not exceed 40 words.

Section B - Questions no. 6 to 8 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

Section C - Questions no. 9 and 10 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

Section D - Questions no. 11 and 12 are case-based questions, carrying
4 marks each.

Section E - Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

Attach map along with your answer-book.

SECTION A
(Very Short Answer Type Questions) (6x2=10)

Why did the new Tory Government in Britain constitute a Statutory
Commission in 1927 ? Explain. 2

Mention the importance of Border roads in India. 2

Why is the iron and steel industry called as the ‘basic industry’ ? Explain. 2

“Democracies are based on political equality.” Examine the statement. 2
Why are transactions made in money ? Explain. 2
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11.
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arraT
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T | 3
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QU T
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(%) YRA T TSI gl & TFE@ YHE@ A1 1 fageiyor Hifu | 5
3T
(@) YRd ¥ ToHifaeh gl <l qfiert 1 fagemor i | 5
(%) “Queientor fafim esn & o= dig whitor i ufshan 7 17 30 e i
9@ HIfT | 5
roran
(@) WRA H SgUYR hufai i fHet i W@ HIf | 5
W@Us °
(ha-seTia ued) (2x4=8)

el {2 7Y @ ! e e AR 3Eh Fe fou TU Sl o IR ferfay 4
Taraaan fead 6 yae, 26 JFad, 1930

‘T favara g fo5 fordft off wome ht o v Sar 1 ot T8 T STswi
(inalienable)ﬂfﬂw%%ﬁmﬁé,masddaﬂ%cﬂ ﬁlﬁ,sﬁtsﬂaﬁ
& A} sTawEsRa it g e8I M Fgq W qiyul IEE fied | g I8
o favara 3 o6 afe w3 oft grer 1ol SHaT &1 39 e 9 9fa wadt 8
3T gETt 8, a1 Sa1 sl Ht TR 1 9ea AT W YA TUTH L hI IIHR
2 | 9 H foar @R 9 9 had YR SHdT hl TEaadr § dfed fRam 8
Sfceh 384 SHAT ST I TRl 8 3R WRA W1 TR, TSHIfdeh, FHidh Td
MeATfcHeh T W Y & fear 7 | safeie gan favara 3 {6 vy = e &y
g fsre & a9 3o ot Tl ol 9HTH ek U TS T ST =Ry |

(11.1) Traep! T 7eefia rferepr |wem T o 2 1

(11.2) WA F U T <kl 01 41 i 2 1
(11.3) 39 31@a0 o Hed # fafew wpr & fa vrdia & foamt &t v

i | 2
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10.

11.

SECTION B
(Short-Answer Type Questions) (3x3=9)
(a) How did non-cooperation become a movement ? Explain. 3
OR
(b) How did the Non-Cooperation Movement spread to the
countryside ? Explain. 3
“Democratic government is legitimate government.” Support the
statement with suitable arguments. 3
Why are poor households still dependent on informal sources of loans ?
Explain. 3
SECTION C
(Long-Answer Type Questions) (2x5=10)
(a) Analyse the major challenges faced by the political parties in India. 5
OR
(b) Analyse the role of political parties in India. 5
(a) “Globalisation is the process of rapid integration between
countries.” Examine the statement. 5
OR
(b)  Examine the role of Multinational Corporations in India. 5
SECTION D
(Case-based questions) (2x4=8)
Read the given case carefully and answer the questions that follow : 4
The Independence Day Pledge, 26 January, 1930
‘We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.
We believe also that if any government deprives a people of these rights
and oppresses them, the people have a further right to alter it or to
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but has based itself on the exploitation of
the masses, and has ruined India economically, politically, culturally, and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence’.
(11.1) What was considered as an inalienable right ? 1
(11.2) Why did Indians ask for ‘Purna Swaraj’ ? 1
(11.3) Examine the views of Indians towards the British Government in
reference to this passage. 2
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12.

= fSu 7TT g Sl SAHYds iy TR I8k = U MU It o W fafEu 4

¥ aTa farggaug wRaReE (NTPC) Rt faaman & wnt

YA § TP a9 foepae e fogd Je@ e arelt e i 2 | 39
e WA SEEAds (EMS) 14001 % T 311§ T8 371 (ISO) YHIUI9F & | I8
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(1)  SMYfehdd Teh-iehi W SMETT IUHLI T TE ITANT hich qdT faed™
TR H AT |

(w) T TG T FEAUTA HL STIRTE Ugre 1 = IcqTEH |

(@)  wrfifeufoeht Tge s W & fore gfa &= 1 grem qon gamrie %
fore uftd e |

(12.1) 9Rd ¥ foRd yg@ & aren @ i sh-ar g 2 1

(12.2) 39 GEIM 1 90 fAfge S 9=iowwr Yo 9 o fau o18.ug.3.

THTOI-IT ST hdT & | 1

(12.3) Tehicieh TATEXT o &IV o fo1C AP ard foggans fm i wweqor HAifd
! T HIfT | 2
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12.

B
Read the given case carefully and answer the questions that follow : 4
NTPC shows the way

NTPC is a major power providing corporation in India. It has ISO

certification for EMS (Environment Management System) 14001. The

corporation has a pro-active approach for preserving the natural
environment and resources like water, oil, gas and fuels in places where

it is setting up power plants. This has been possible through —

(a) Optimum utilisation of equipment adopting latest techniques and
upgrading existing equipment.

(b)  Minimising waste generation by maximising ash utilisation.

(c) Providing green belts for nurturing ecological balance and
addressing the question of special purpose vehicles for
afforestation.

(12.1) Which is the major power providing corporation in India ? 1

(12.2) Name the institution which issues ISO certification for
Environment Management System. 1

(12.3) Explain the pro-active approach of NTPC for preserving the
natural environment. 2
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(wrters-smernf we) (1+2=3)

13. () fou U wwa % ToHifae WA (I8 11 W) § fF=fafea e
# TERE | A’ % ®9 § fafgd o f ugem K s A g™

wi=h 78 WE1 W 3G g8t 9 foifey |
A, 98 YW @ IR TEE HIUE 1 AEE 1927 H 31 o | 1
(i) feu T wRa & H TEraERe w FEfiiiaa s sifed s TR 39
W%’F@Q:
(%) (1) TS — AIFSR TaIATS TTeh 1
roran
(II) YOI — TG oISl ITeh 1
(@) YR - @ gl oo 1
Fie:  RHEIRad 397 Fac GIRETad gt & 77 397 G&qr 13 F € W
& 1 3x1=3
(13.1) 38 R 1 94 fafage ST v g e 1 Ay 1927 1 g3
o | 1
(13.2) () 39 T &1 W faiRgu S&f Tver difea=r doTars dmh fea
3 | 1
roran
(@) 39 TsF &1 1 fARagu S8l gur ditea’i daiatst qreh & 3 | 1
(13.3) Torm U= O I TS 9o a7 2 1
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SECTION E
(Map-Based Question) (1+2=3)

13. (@) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information

and write its correct name on the line marked near it.

A. The place where the Indian National Congress Session was
held in 1927. 1
(i)  On the same given map of India, locate and label the following with

appropriate symbols :

(a) (D Noida — Software Technology Park 1
OR

(I)  Pune — Software Technology Park 1

(b)  Paradwip — Major Sea Port 1

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. 3x1=3

(13.1) Name the city where the Indian National Congress Session was
held in 1927. 1

(13.2) (a) Name the State where the Noida Software Technology Park

is located. 1
OR
(b) Name the State where the Pune Software Technology Park
is located. 1
(13.3) In which State is Paradwip Sea Port located ? 1
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For question no. 13
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